C((300) C,(300) 72(296) 5(296) Nef R
(a) Covariance matrix

C(300) 458 x 10721 —157x10719 —263x1071 —586x10730 _—3.08x10"!11 —7.86x 10718
C,(300) —1.57x 10719 1.05 x 10717 0 -231x10"2% 0 0
2(296) —2.63x 10715 0 1.52%x 1073 0 0 5.05x 1070
5(296) —586x 10730 231 x 1072 0 1.66 x 10~32 0 0
nef -3.08 x 10~ 0 0 0 0.64 0
R —7.86x 10718 0 5.05 x 1076 0 0 1.12x 1074
(b) Correlation matrix

C(300) 1 —0.71 —0.001 —7x107% —0.57 —1x1073
C,(300) —0.71 1 0 —6x 1073 0 0
7a(296) —0.001 0 1 0 0 0.01
5(296) —7x 1074 —6x 107> 0 1 0 0
et —0.57 0 0 0 1 0
R —1x 1073 0 0.01 0 0 1




